Geometry A Name: Ked
6.3 Notes: Similar Figures Date: v Period:

e | can use proportions to identify similar polygons.
TARGETS | ® | can use similar polygons to solve problems.

Similar polygons are polygons that have the same shape but not necessarily the same size.

Similar Polygons

Corresponding angles are congruent.
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A similarity ratio, also called the scale factor is the ratio of the lengths of corresponding sides.
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- In the diagram above, for the similarity statement ADEF~AABC, the similarity ratio is: _{ - ADEF
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Example 1:

Determine whether the polygons are similar. If so, write the scale factor (similarity ratio) and a
similarity statement.
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Example 2: fudor of 3 ccale fados O 13
In the diagram, ABCD~ARST. Please solve for x.
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Perimeters of Similar Polygc;ns_Theorem

B AABC ~ ADEF

If two polygons are similar, and their similarity ratio is 2
then the ratio of their perimeters is Z
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perimeter of AABC _ 36 _3
perimeter of ADEF 12 1

Example 3: 16 .
In the diagram, ABCD: FGHI, 4 N
a) Find the scale factor of FGHJ to ABCD. LA 8
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b) Find the perimeter of FGHJ. 7, 10 H
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v Checkpoint
1) Inthe diagram, ABCDE : FGHIK.
a} Find the scale factor of FGHJK to ABCDE.
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b) Find the value of x.
A 10 B .
FeH)K 3 . s > 3% = 30 H
—— | X - - 18 p- 69
RBLE scale  unknown E 13 = x| 72 P 12
¢) Find the perimeter of ABCDE.
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Example 4: Applications!
a) Youare flying a kite on a sunny day. The kite has side lengths shown in the figure below at the
left. The kite’s shadow has the side lengths shown in the figure below at the right.
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Is the shadow similar to the kite? Explain your reasoning.
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